Identités

(a+ b)? = a® + 2ab + b*

(a —b)? = a? — 2ab + b?

(a+b)* = a® + 3a?b + 3ab® + b*

(a —b)* = a* — 3a®b + 3ab* — b*

a? — b = (a—b)(a+b)

a® + b* n’est pas factorisable dans les réels

a® —b* = (a — b)(a® + ab + b?)

a® +b* = (a + b)(a® — ab + b?)




-
1/
+ 5
- [y
~ﬁ)//
/3)

M
yE
= 4

M
ey
-7

Y
7
a2
7
|

4/2
+ 5
7
9
- {
72
)
%
/
7
)

tHE
G
W
|

L) -l
)C/



gxzib bx+¢ = 0 & X=

o+ T+ =0 -3
4
c )25 — 2 / :
2 =
(( \
— 7






~ (- ) () +5x+ 25,
- (XZ*\EM”E) (Xg*b/@Z?)

(AT ) s









